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00:35:04.815===========> [liEnginelmp!.error: [315] A
Java.lang. ArravindexOut Of BoundsExcept ian: Ind;x | out of hounds for length 1 ( :
o at orz.zkoss.pivot.inpl.TabularPivotModel§CalculatorContextSpace.zetOveral [GrandtotallduMapping(TabularPivotlodel .java: 764
rOUt Of BOUﬂdSJ@Ij—(i\ at org.zkoss.pivot.impl-TabularPivotWode! . getValue (TabularPivotModel . java:459)

at Drg.zkuss.pivut.impl.TahularPivutMndel.getﬂ;lue(TabularPivntHudeI.{ava:4?) |
- - = — at org.zkoss.pivot.impl.util.DataCellTraverserdSingleCel IFilICtx.fill(DataCel|Traverser.java:?03
PIVOt WlndOWt1§ﬁHbtb\57/{ at org.zkoss.pivot.impl.util.DataCellTraverserfSingleCel IFilICte.fill(DataCellTraversar.java:l180)
R at org-ztoss-pivot.impl.util.Batagel:¥raverser%ginglegellgiI:gtx.gillggatagelI%raverser-]ava:}gg%
=1l_+\ — N at org.zkoss.pivot.inpl.util.Datale raversergainglele i tu.fi atale raverser.javat
j?U b\_;EZI_\LJ_CElt)D\ @‘IZ:EHO at org.zkoss.pivot.impl.util.DataCellTraverserfSingleCel IFi1ICty.accesst400 (DatacCel | Traverser. java:139)
at org.zkoss.pivot.impl.util.DataCellTraverser.fill(DataCellTraverser.java:l34)
at org.zkoss.pivot.impl.util.DataCellTraverserf1$1 .onNode(DataCellTraverser.java:l25])
at org.zkoss.pivot.util.Trees.traverseilrees.java:?32)
at org.zkoss.pivot.util.Trees.traverseilrees.javaz193)
at org.zkoss.pivot.util.Trees.traverse(Trees.java:{80)
at org.zkoss.pivot.impl.util.DataCellTraverser®!.onNode(DataCellTraverser.java:l19)
at org.zkoss.pivot.util.Trees.traverse(Trees.java:?32)
at org.zkoss.pivot.util.Trees.traverse(lrees.java:ld3)
at Drg.zkuss.pivut.impl.uti|.DataCelITraveEser.fill(DataCelITr?verser.java:lDD)
H =t — at org.zkoss.pivot.Pivottable.onlnitRender(Pivottable.iava:BRA
JP|eretL/_C§éZ€L/_CL\597Z(i\ at jdk.internal.reflect.GeneratedMethodbccessori0l.invake(Unknown Source)
at java.basefidk.internal.reflect.Delegat ingMethodfccessarInpl.invoke(Delegat ingethodbccessoringl.java:d4d]

Xg\yq hb_x(:%a__\én@b\ -> at java.base/java.lang.reflect.Method.invoke(Method.iava:566]

00:35:04.819===========> [iEnginelmnp!.error: [916]
java.lang.frravindexOut Of BoundsException: Index 1 out aof hounds for length 1
at org.zkoss.pivot.inpl.TabularPivotModel$CalculatorContextSpace.getOveral lGrandtotal IduMapping(TabularPivotModel .java:7h4)
at org.zkoss.pivot.impl.-TabularPivotMade! . getValue (TabularPivatModel .java:458)
at org.zkoss.pivot.impl.TabularPivotMode! getWalue (TabularPivatMadel . javaz47)
at org.zkoss.pivot.impl.util.DataCellTraverserdSingleCel IFiTICtx.fill(DataCellTraverser.java:203)
at org.zkoss.pivot.impl.util.DataCellTraverserfSingleCel IFi1ICtx.fill(DataCellTraverser.java:l180])
at org.zkoss.pivot.impl.util.DataCellTraverserfSingleCel IFi1ICtx.fill(DataCellTraverser.java:lfh)
at org.zkoss.pivot.impl.util.DataCellTraverserfSingleCel IFilICtx.fill(DataCellTraverser.java:lB2)
at org.zkoss.pivot.impl.util.DataCellTraverserfSingleCel IFilICtx.accessd400(DataCellTraverser.java:l39)
at org.zkoss.pivot.impl.util.DataCellTraverser.fill(DataCellTraverser.java:l3d)
at org.zkoss.pivot.impl.util.DataCellTraverser$15l .onlode(DataCellTraverser.javazl258)
at org.zkoss.pivot.util.Trees.traverse(Trees.java:?32)
at org.zkoss.pivot.util.Trees.traverse(Trees.java:(d3)
at org.zkoss.pivot.util.Trees.traverse(lrees.java:l80)
at org.zkoss.pivot.impl.util.DataCellTraverserfl.onNode(DataCellTraverser.java:l19)
at org.zkoss.pivot.util.Trees.traverse(lrees.java:?32)
at org.zkoss.pivot.util.Trees.traverseilrees.java:193)
at org.zkoss.pivot.impl.util.DataCellTraverser . fill(DataCellTraverser.java:100)
at org.zkoss.pivot.Pivottahle.onlnitRender (Pivottable.java:BRA]
at jdk.internal.reflect.Generatediethodiccessor101. invake (Unknown Source)
at java.base/idk.internal.reflect.DelegatinglethodbccessorInpl.invoke(Delegat ingethodiccessorinpl.java:d43)
at java.base/java.lang.reflect.Method.invoke (Method.java:566)
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